[Tpn kakux 3HAYeHHAX MapamerpoB byakius f(z) Gymer:
a) HenpepbiBHA Ha R;
b) muddepennupyema Ha R;

¢) menpepsiBHO Tuddepennupyema ra R?
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a+ Bx? x> —1.
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acosx + fBsinz, x > 0.
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22, x <1;
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ar+1, x < 1;
B+x, x>1.
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ar?+ Br+1, x<1;
-1, x > 1.
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ar’ +x+ B, v <1;
1, x> 1.

a+ B3, x < 1;
20+ 1, x > 1.

z+2, r < —1;
a+ Bx, ©>—1.

ar’ + Br+1, v < 1;
3x+2, x> 1.

ar’ + 8, r < —1;
2+, x> -1

2%, x < 0;
22+ Bx, x> 0.

3r+ 2,2 <0;
ar* +z+ 8, r € (0,1);
2z, z > 1.

22, < 1;
r+ 3, v > 1.

ar? +1, v <0;
B+,

ar? +Br+1, x < —1;
20+ 3, x > —1.

ar?+ 8, x <0;
2> +1, 2> 0.

3r+4,x <0
ar’+x+ B, € (0,1);
1—-2z, z>1.



23.

24.

25.

26.

27.

28.

29.

30.

=
&

=
&

=
&

=
s

=
&

=
g

—N — —— —— = —/ =

3r—2, v <1;
ar’+ax+ 6, x> 1.

ar® + Bz +1, x < 1;
2c+4, > 1.

ar’ +x+ 6, x <1;
3—a2, > 1.

ar + [, v < 1;
2 x> 1.
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a+ Bx?, x> —1.

(z —a)-e’ x<0;
ar?+ pr+1, x> 0.

a+ Bx, r <0
acosx — fBsinz, x> 0.



